BT TRIA O - HEHHEE X T BFEJ‘zigﬁozﬁ KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,567 87,005 41,526 45479
RIRET1T 6 15 9 6
RIRET2T 25 53 25 28
RIRET3T 181 598 294 304
RIRET4T 410 988 487 501
B 622 1,654 815 839
REH 2,666 6,208 2,916 3,292
L&A 4218 9,527 4,487 5,040
5E 2,560 6,022 2,925 3,097
B AN 1,257 2,874 1,339 1,535
BERT 1,275 1,946 925 1,021
BER2T 694 1,354 657 697
BHERST 389 878 430 448
g 2,358 4178 2,012 2,166
BARE 260 655 331 324
= 2,201 5,249 2,484 2,765
hERE 632 1,459 665 794
e 2,403 5218 2,509 2,709
25 L ET 2,241 5,102 2,440 2,662
B &AL BT 78 167 67 100
HEFILET1T 566 1,218 575 643
HEFILET2T 616 1,363 643 720
HEZFILAT3T 610 1,444 711 733
g 1,870 4,192 1,996 2,196
B & it B Fr ET 688 1,645 791 854
BHEREBET1T 600 1,231 587 644
BHERERET2T 758 1,755 855 900
BHERERETST 777 1,688 768 920
HERERET4T 450 965 472 493
HEHFMHETST 821 1,704 806 898
HEHFHET6T 881 2,014 963 1,051
HEFRET7T 828 1,846 891 955
HERERETST 71 217 101 116
£t| 5186 11,420 5,443 5,977
HEF R FET 1,846 3,972 1,931 2,041
S|EFET1T 573 1,542 768 774
S|EFET2T 762 1,818 867 951
S|EFET3 T 719 1,439 672 767
g 2,054 4,799 2,307 2,492
ERE1T 573 1,359 649 710
EIRET2T 388 1,034 517 517
EREIST 472 1,313 638 675
EIRETAT 696 1,540 701 839
EIZEIST 488 1,011 513 498
g 2,617 6,257 3,018 3,239
MEH 2,776 6,353 3,017 3,336
J\THET1T 32 35 12 23
J\THET2T 27 69 34 35
J\THEI3T 53 117 54 63
B 112 221 100 121
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